CHM 152 Quiz7 25Pts Spring 2007 Name: }Q %—

1. 15 Pts) Determine the pH of a 0.010 M solution of Ascorbic acid, HyCgHgOg¢. (Kay=1x 107 Ki=3x
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2a. (3 Pts) Determine the pH of a solution that is 0.010 M in Ascorbic acid, HyCsH¢Og, and 0.010 M in
NaHCsHsOs. (Kar=1x 10, Koz =3x 10™%)
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b. (5 Pts) If 0.002 mole of NaOH are added to the above solution, what would be the resulting pH?
Bute woe i rec of wth cad o Lorm, provesalt

W= 4 ., OL10+ 0000
P - / e:wm—owL ////////

D= < #0I7¢ R

a,_M /
3. (5 Pts) Find the pH of a buffer that consists of 0.25 M NHj and 0.10 M NH,Cl (pK, = 4.75)
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4. (5 Pts) The solubility of silver dichromate (Aggr207) at 15°Cis 8.3 x 10> £/100 mL of solution.
Calculate its Ky at 15°C. (molar masses: Ag 107. 9 Cr 52.0; O 16.0)
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